
Multiplant production

A company consists of two factories A and B. Each factory makes two products: standard and
deluxe. Each unit of product yields the following profit

standard deluxe
unit profit 10 15

Each factory use two processes, grinding and polishing for producing its product. The grinding
and polishing times in hours for a unit of each type of product in each factory are

factory A factory B
standard deluxe standard deluxe

grinding 4 2 5 3
polishing 2 5 5 6

Factory A has a grinding capacities of 80 hours per week and polishing capacity of 60 hours
per week. Factory B has a grinding capacities of 60 hours per week and polishing capacity of
75 hours per week

Each product (standard or deluxe) requires 4 kg of a raw material. The company has 120 kg
of raw material per week Determine the optimum production level (ie profit-maximizing)
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